

Pay Estimate Created Date: March 16, 2022

Progress Estimate N 14	umber	Contract ID Prime Contractor	210122-D04 · Concrete Strateg					Original Contract Amount Net Change Order Amount Current Contract Amount			
Approval Date									By User		
March 16, 2022		the Project Office Level by	stokez1								
March 18, 2022		Re	viewed and Appro	ved (and s	hould be consider	red Draft) at	the F	Resident Engineer Level by	browns1		
March 21, 2022	Reviewed and Approved at the Central Office Controllers Office Level										
Original Completion	n Date	Current Con	pletion Date	Actu	al Completion Da	of Current Contract Amoun	unt Complete				
December 1, 202	21	Decembe	er 1, 2021					98.55%			
	Contrac	t Informational Da	tes		Mile	stones					
Date Description	Origina	I Completion Date	Current Comple	tion Date	No Milestones	Exist for Co	ntract				
Acceptance Date											
Awarded Date	Februar	y 3, 2021	February 3, 2021								
Letting Date	January	22, 2021	January 22, 2021	1							
Notice to Proceed Date	March 8	, 2021	March 8, 2021								
Work Began Date	n Date July 6, 2021 July 6, 2021										

Contract Total Pay For Estimate	No. 14				
		This Estimate	Previous	To Date	
210122-D04					
Total Post	ed Items Pay	\$40,038.60	\$1,427,481.75	\$1,467,520.35	
Gross Iten	n Adjustments	\$50,199.36	(\$52,245.36)	(\$2,046.00)	
Incentive		\$0.00	\$0.00	\$0.00	
Disincenti	/e	\$0.00	\$0.00	\$0.00	
Liquidated	Damage	\$0.00	\$0.00	\$0.00	
Other Con	tract Adjustments	\$0.00	\$0.00	\$0.00	
			\$1,375,236.39	\$1,465,474.35	
Contract Total Payable This Esti	mate:	\$90,237.96			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Current Installed Amount			
J5P3399	0047	6122030	IMPACT ATTENUATOR (RELOCATION)	EA	\$1,165.000	3	\$3,495.00
	0150	6181000	MOBILIZATION	LS	\$148,822.000	0.05	\$7,441.10
	0155	6191000	PAVEMENT EDGE TREATMENT	LF	\$0.100	4,245	\$424.50
	5001	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	EA	\$1,069.250	8	\$8,554.00
	5002	6161070	TUBULAR MARKER	EA	\$117.000	172	\$20,124.00
Project J5P339	9 - Total						\$40,038.60
Overall - Total		\$40,038.60					

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

	-							
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5P3399	0110	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2674.00000 - 2674.00000, 'is applied (if non-zero).	2	\$2,674.00	\$5,348.00
	0155	PAVEMENT EDGE TREATMENT	Material			-4,245	\$0.10	(\$424.50)
	0155	PAVEMENT EDGE TREATMENT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item	4,245	\$0.10	\$424.50



Pay Estimate Created Date: March 16, 2022

Progre		imate Number 4	Contract ID 210122-D04 Pay Period Start January 2, 2022 Original Contract Amount \$1 Prime Contractor Concrete Strategies, LLC Pay Period End March 15, 2022 Net Change Order Amount \$7 Contract ID 210122-D04 Pay Period Start January 2, 2022 Original Contract Amount \$1 Prime Contractor Concrete Strategies, LLC Pay Period End March 15, 2022 Net Change Order Amount \$1 Current Contract Amount \$1 </th								
Project Number	Line No.	Item Desc	ription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustmen amount		
5P3399						Adjustment (0006) due to user stokez1 overridding Payment Estimate Exception 3 on the current Payment Estimate.					
	0160	4 IN. YELLOW WATERBORNE MARKING PA	PAVEMENT	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.80000 - 0.80000, 'is applied (if non-zero).	4,908	\$0.80	\$3,926.40		
	0170	6 IN. WHITE WATERBORNE MARKING PA	PAVEMENT	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.86000 - 0.86000, 'is applied (if non-zero).	6,836	\$0.86	\$5,878.96		
	0180	PAVEMEN	IT MARKING REMOVAL	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.64000 - 0.64000, 'is applied (if non-zero).	36,322	\$0.64	\$23,246.08		
	0190		Emporary It Marking Paint	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.53000 - 0.53000, 'is applied (if non-zero).	22,264	\$0.53	\$11,799.92		
	0320		MISC.	Material			-36	\$559.00	(\$20,124.00		
	0320		MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user stokez1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	36	\$559.00	\$20,124.00		
	0330	CLASS B-2	CONCRETE	Material			-24.1	\$2,198.00	(\$52,971.8		
	0330	CLASS B-2	CONCRETE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user stokez1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	24.1	\$2,198.00	\$52,971.80		
	5001	TEMPORARY I RUM	LONG-TERM	Material			-8	\$1,069.25	(\$8,554.0		
	5001	TEMPORARY I RUM	LONG-TERM IBLE STRIPS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	8	\$1,069.25	\$8,554.00		
	5002	TUBUL	JLAR MARKER Material				-172	\$117.00	(\$20,124.00		
	5002	TUBUL	AR MARKER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user stokez1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	172	\$117.00	\$20,124.00		
otal									\$50,199.30		



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	n					
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
J5P3399	FAF 63-3(111)	Bridge rehabilitation	50,63	GASCONADE	on Rte. 63 and Rte. 50 over Gasconade River							
Totals by Job Numbers												
J5P3399		d Item Pay Item Adjustme		Item Pay	This Estimate \$40,038.60 \$50,199.36 \$90,237.96	Previous \$1,427,481.75 (\$52,245.36) \$1,375,236.39	To Date \$1,467,520.35 (\$2,046.00) \$1,465,474.35					
					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J5P3399, Item 6161070, Project Item Line Number 5002, Material Set 616107096, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Stokez1 Material certification has bee received and a sample ID needs to be entered.	stokez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3399, Item 6162002, Project Item Line Number 5001, Material Set 616200296, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	stokez1 Material certification has bee received and a sample ID needs to be entered.	stokez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3399, Item 6191000, Project Item Line Number 0155, Material Set 619100096, Material 0619PET - Material for Pavement Edge Treatment, Acceptance Action Generic 0619PET is insufficient.	Stokez1 Sample ID needs to be entered for visual inspection.	stokez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3399, Item 7034214, Project Item Line Number 0330, Material Set 703421496, Material 0501CCB2.A - Concrete, Class B-2 w/Air, Acceptance Action Generic 0501CCB2.A is insufficient.	stokez1 MoDOT QA Materials Division field materials results need entered to complete and authorize sample record.	stokez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3399, Item 2169903, Project Item Line Number 0320, Material Set Barrier Curb, Material 0501CCB2.A - Concrete, Class B-2 w/Air, Acceptance Action Generic 0501CCB2.A is insufficient.	stokez1 MoDOT QA Materials Division field materials results need entered to complete and authorize sample record.	stokez1	Overridden
Estimate Exception Type: Item Overrun: Contract 210122-D04, Contract Project J5P3399, Project Item Line Number 0195, Contract Line Item Number 0195, Item 8061005, Minor Item.	Stokez1 Change order is required.	stokez1	Acknowledged



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210122-D04	J5P3399	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$7,500.00	\$7,500.00
		0001	0020	2072000	LINEAR GRADING CLASS 2	42.50	0.00	42.50	STA	42.50	\$1,045.00	\$44,412.50
		0001	0030	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	3,638.00	0.00	3,638.00	SQYD	3,638.00	\$11.25	\$40,927.50
		0001	0040	5029905	MISC.Optional Pavement	3,637.70	0.00	3,637.70	SQYD	3,637.70	\$57.50	\$209,167.75
		0001	0043	6122017	IMPACT ATTENUATOR 65 MPH (SAND BARREL ARRAY)	2.00	0.00	2.00	EA	2.00	\$4,000.00	\$8,000.00
		0001	0045	6122020	REPLACEMENT SAND BARREL	2.00	-2.00	0.00	EA	0.00	\$320.00	\$0.00
		0001	0047	6122030	IMPACT ATTENUATOR (RELOCATION)	3.00	3.00	6.00	EA	6.00	\$1,165.00	\$6,990.00
		0001	0050	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	EA	1.00	\$5,400.00	\$5,400.00
		0001	0060	6161005	CONSTRUCTION SIGNS	500.00	-112.00	388.00	SQFT	388.00	\$7.50	\$2,910.00
		0001	0070	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$37.50	\$150.00
		0001	0080	6161009	FLAG ASSEMBLY	8.00	0.00	8.00	EA	8.00	\$16.00	\$128.00
		0001	0090	6161010	RELOCATED SIGNS	500.00	-112.00	388.00	SQFT	388.00	\$6.50	\$2,522.00
		0001	0100	6161025	CHANNELIZER (TRIM LINE)	113.00	0.00	113.00	EA	113.00	\$19.25	\$2,175.25
		0001	0110	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00		4.00	EA	4.00	\$2,674.00	\$10,696.00
		0001	0120	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	4.00	-4.00	0.00	EA	0.00	\$1,069.25	\$0.00
		0001	0130	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	1,270.00	0.00	1,270.00	LF	1,270.00	\$31.50	\$40,005.00
		0001	0140	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	3,810.00	0.00	3,810.00	LF	3,810.00	\$10.25	\$39,052.50
		0001	0150	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$148,822.00	\$148,822.00
		0001	0155	6191000	PAVEMENT EDGE TREATMENT	4,245.00	0.00	4,245.00	LF	4,245.00	\$0.10	\$424.50
		0001	0160	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	3,145.00	4,908.00	8,053.00	LF	8,053.00	\$0.80	\$6,442.40
		0001	0170	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	3,700.00	6,836.00	10,536.00	LF	10,536.00	\$0.86	\$9,060.96
		0001	0180	6207001	PAVEMENT MARKING REMOVAL	16,080.00	36,322.00	52,402.00	LF	52,402.00	\$0.64	\$33,537.28
		0001	0190	6208076	4 IN TEMPORARY PAVEMENT MARKING PAINT	16,080.00	22,264.00	38,344.00	LF	38,344.00	\$0.53	\$20,322.32
		0001	0191	8052000A	SEEDING - WARM SEASON MIXTURES	1.00	0.00	1.00	ACRE	0.00	\$5,186.00	\$0.00
		0001	0192	8061003	SEDIMENT TRAP EXCAVATION	5.00	0.00	5.00	CUYD	0.00	\$48.00	\$0.00
		0001	0194	8061004	SEDIMENT TRAP ROCK	5.00	0.00	5.00	CUYD	0.00	\$69.50	\$0.00
		0001	0195	8061005	ROCK DITCH CHECK	120.00	0.00	120.00	LF	252.00	\$15.50	\$3,906.00
		0001	0196	8061016	SEDIMENT REMOVAL	251.00	0.00	251.00	CUYD	0.00	\$42.00	\$0.00
		0001	0198	8061019	SILT FENCE	1,386.00	0.00	1,386.00	LF	700.00	\$2.50	\$1,750.00
		0070	0200	2164500	REMOVAL OF EXISTING EXPANSION JOINT & ADJACENT	163.00	0.00	163.00	LF	163.00	\$266.00	\$43,358.00
		0070	0210	2169903	CONCRETE MISC.Remove and Replace Barrier Curb	42.00	0.00	42.00	LF	42.00	\$490.00	\$20,580.00
		0070	0220	7034214	CLASS B-2 CONCRETE	30.60	0.00	30.60	CUYD	30.60	\$1,791.00	\$54,804.60
		0070	0230	7101000	REINFORCING STEEL (EPOXY COATED)	1,300.00	0.00	1,300.00	LB	1,300.00	\$1.50	\$1,950.00
		0070	0240	7110100	PROTECTIVE COATING - CONCRETE BENTS AND PIERS	1.00	0.00	1.00	LS	1.00	\$10,700.00	\$10,700.00
		0070	0250	7121100	(URETHANE) FABRICATED STRUCTURAL LOW ALLOY STEEL (MISC)	1,700.00	0.00	1,700.00	LB	1,700.00	\$4.00	\$6,800.00
		0070	0250	7125200	SURFACE PREPARATION FOR RECOATING STRUCTURAL	2,700.00	0.00	2,700.00	SQFT		\$69.50	\$187,650.00
		0070			STEEL					2,700.00		
		0070	0270	7125210	FIELD APPLICATION OF INORGANIC ZINC PRIMER	2,500.00	0.00	2,500.00	SQFT	2,500.00	\$2.25	\$5,625.00
		0070	0280	7125385A	INTERMEDIATE FIELD COAT (SYSTEM H)	2,500.00	0.00	2,500.00	SQFT	1,250.00	\$2.25	\$2,812.50
		0070	0290	7125390A	FINISH FIELD COAT (SYSTEM H)	2,500.00	0.00	2,500.00	SQFT	1,250.00	\$2.25	\$2,812.50
		0070	0300	7172001	STRIP SEAL EXPANSION JOINT SYSTEM	163.00	0.00	163.00	LF	163.00	\$284.00	\$46,292.00
	0071 0310 2164500 REMOVAL OF EXISTING EXPANSION JOINT & ADJACENT CONCRETE	140.00	0.00	140.00	LF	140.00	\$281.00	\$39,340.00				
		0071	0320	2169903	MISC.REMOVE AND REPLACE BARRIER CURB	36.00	0.00	36.00	LF	36.00	\$559.00	\$20,124.00
		0071	0330	7034214	CLASS B-2 CONCRETE	24.10	0.00	24.10	CUYD	24.10	\$2,198.00	\$52,971.80
		0071	0340	7101000	REINFORCING STEEL (EPOXY COATED)	2,900.00	0.00	2,900.00	LB	2,900.00	\$1.50	\$4,350.00

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210122-D04	J5P3399	0071	0350	7110100	PROTECTIVE COATING - CONCRETE BENTS AND PIERS (URETHANE)	1.00	0.00	1.00	LS	1.00	\$10,700.00	\$10,700.00
		0071	0360	7123130	REHABILITATE BEARING	10.00	0.00	10.00	EA	10.00	\$5,200.00	\$52,000.00
		0071	0370	7125200	SURFACE PREPARATION FOR RECOATING STRUCTURAL STEEL	2,500.00	0.00	2,500.00	SQFT	2,500.00	\$69.50	\$173,750.00
		0071	0380	7125210	FIELD APPLICATION OF INORGANIC ZINC PRIMER	2,400.00	0.00	2,400.00	SQFT	2,400.00	\$2.25	\$5,400.00
		0071	0390	7125385A	INTERMEDIATE FIELD COAT (SYSTEM H)	2,400.00	0.00	2,400.00	SQFT	2,400.00	\$2.25	\$5,400.00
		0071	0400	7125390A	FINISH FIELD COAT (SYSTEM H)	2,400.00	0.00	2,400.00	SQFT	2,400.00	\$2.25	\$5,400.00
		0071	0410	7172001	STRIP SEAL EXPANSION JOINT SYSTEM	140.00	0.00	140.00	LF	140.00	\$298.00	\$41,720.00
		0001	5001	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	0.00	8.00	8.00	EA	8.00	\$1,069.25	\$8,554.00
		0001	5002	6161070	TUBULAR MARKER	0.00	172.00	172.00	EA	172.00	\$117.00	\$20,124.00
	Project J	5P3399 - To	otal Value	Posted to D	ate as of Report Generated Date							\$1,467,520.36
210122-D04 Ove	122-D04 Overall - Total Value Posted to Date as of Report Generated Date											



....

Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line lumber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0047	6122030	IMPACT ATTENUATOR (RELOCATION)	3/9/22	3/16/22	3.00	EA	Total Relocations Rte. 63 LM 144.543 and LM 144.731 - 2 relocations for moving barricades (1 for each side) Rte. 50 LM 174.921 and LM 175.081 - 2 relocations from Rte. 63 to Rte. 50 (1 for each side) Rte. 50 LM 174.921 and LM 175.081 - 2 relocations for moving barricades (1 for each side)					3 EA relocations have been paid. Quantity Posted is the remainder to be paid
0150	6181000	MOBILIZATION	3/9/22	3/16/22	0.05	LS	N/A					Remaining quanity to be paid
0155	6191000	PAVEMENT EDGE TREATMENT	3/9/22	3/16/22	4,245.00	LF	Rte. 50 707 52 at LM 175 081 to LM 175 215 RT 707 52 at LM 175 081 to LM 175 215 LT Rte. 63 707 52 at LM 144 543 to LM 144 409 RT 707 52 at LM 144 543 to LM 144 409 LT 707 52 at LM 144 865 to LM 144 4731 RT 707 52 at LM 144 865 to LM 144 731 RT 707 52 at LM 144 865 to LM 144 731 LT Total = 4245.1 Rounded = 4245					
5001	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	3/9/22	3/16/22	8.00	EA	Rie. 50 2 at LM 174.921 2 at LM 175.061 Rie. 63 2 at LM 144.543 2 at LM 144.731					
5002	6161070	TUBULAR MARKER	3/9/22	3/16/22	172.00	EA	Rte. 63 from LM 144.543 to LM 144.731					

The information below this line are details for Construction Signs (if applicable). No Data Available



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3399	0030	TYPE 5 AGGREGATE FOR BASE	Material		2	Jul 16, 2021	SYSTEM	\$27,260.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user lamonr overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Jul 16, 2021	SYSTEM	(\$27,260.10)	
					3	Aug 2, 2021	SYSTEM	\$27,260.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user lamonr overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Aug 2, 2021	SYSTEM	(\$27,260.10)	
				- Total			1	\$0.00	
			Material - Tota	l				\$0.00	
	0030 -	Total						\$0.00	
	0040	MISC.	Material		2	Jul 16, 2021	SYSTEM	\$16,557.99	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user lamonr overridding Payment Estimate Exception 2 on the current Payment Estimate.
					2	Jul 16, 2021	SYSTEM	(\$16,557.99)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0040 -	Total						\$0.00	
	0110	CMS WITH COMMUNICATION INTERFACE,	Overrun	Overrun		Oct 1, 2021	SYSTEM	(\$5,348.00)	
		CONT F			14	Mar 16, 2022	SYSTEM	\$5,348.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2674.00000 - 2674.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0110 -							\$0.00	
	0155	PAVEMENT EDGE TREATMENT	Material		14	Mar 16, 2022	SYSTEM	\$424.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user stokez1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					14	Mar 16, 2022	SYSTEM	(\$424.50)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0155 -							\$0.00	
	0160	4 IN. YELLOW HIGH BUILD WATERBORNE PAINT	Material		7	Oct 1, 2021	SYSTEM	\$1,442.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user lamonr overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	Oct 1, 2021	SYSTEM	(\$1,442.80)	
					8	Oct 18, 2021	SYSTEM	\$1,442.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user lamonr overridding Payment Estimate Exception 1 on the current Payment Estimate.
					8	Oct 18, 2021	SYSTEM	(\$1,442.80)	
					9	Nov 2, 2021	SYSTEM	(\$1,442.80)	
					10	Nov 16, 2021	SYSTEM	(\$1,442.80)	
					11	Dec 2, 2021	SYSTEM	(\$1,442.80)	
					12	Dec 16, 2021	SYSTEM	(\$1,442.80)	
		- Total Material - Total				(\$5,771.20)			
						(\$5,771.20)			
			MaterialCredit		10	Nov 16, 2021	SYSTEM	\$1,442.80	
					11	Dec 2, 2021	SYSTEM	\$1,442.80	
					12	Dec 16,	SYSTEM	\$1,442.80	



Mar 22, 2022

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
I5P3399	0160	4 IN. YELLOW HIGH BUILD	MaterialCredit			2021			
		WATERBORNE PAINT			13	Jan 3, 2022	SYSTEM	\$1,442.80	
				- Total				\$5,771.20	
			MaterialCredit	- Total				\$5,771.20	
			Overrun	Overrun	7	Oct 1, 2021	SYSTEM	\$369.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 5 on the current Payment Estimate. Material Insufficiency Quantity 1803.500; Overrun Quantity Balance 462.00.
					7	Oct 1, 2021	SYSTEM	(\$369.60)	
					8	Oct 18, 2021	SYSTEM	(\$369.60)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					8	Oct 18, 2021	SYSTEM	\$369.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 11 on the current Payment Estimate. Material Insufficiency Quantity 1803.500; Overrun Quantity Balance 462.00.
					9	Nov 2, 2021	SYSTEM	(\$369.60)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					9	Nov 2, 2021	SYSTEM	\$369.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 5 on the current Payment Estimate. Material Insufficiency Quantity 1803.500; Overrun Quantity Balance 462.00.
					10	Nov 16, 2021	SYSTEM	(\$369.60)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					10	Nov 16, 2021	SYSTEM	\$369.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 8 on the current Payment Estimate. Material Insufficiency Quantity 1803.500; Overrun Quantity Balance 462.00.
					11	Dec 2, 2021	SYSTEM	(\$369.60)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					11	Dec 2, 2021	SYSTEM	\$369.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 4 on the current Payment Estimate. Material Insufficiency Quantity 1803.500; Overrun Quantity Balance 462.00.
					12	Dec 16, 2021	SYSTEM	(\$369.60)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					12	Dec 16, 2021	SYSTEM	\$369.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 4 on the current Payment Estimate. Material Insufficiency Quantity 1803.500; Overrun Quantity Balance 462.00.
					13	Jan 3, 2022	SYSTEM	(\$369.60)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					13	Jan 3, 2022	SYSTEM	(\$3,556.80)	
					14	Mar 16, 2022	SYSTEM	\$3,926.40	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.80000 - 0.80000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0160 -	Total						\$0.00	
	0170	6 IN. WHITE HIGH BUILD	Overrun	Overrun	7	Oct 1, 2021	SYSTEM	(\$1,277.10)	
		WATERBORNE PAINT			13	Jan 3, 2022	SYSTEM	(\$4,601.86)	
					14	Mar 16, 2022	SYSTEM	\$5,878.96	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.86000 - 0.86000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota			\$0.00			
	0170 -	Total						\$0.00	
	0180	PAVEMENT	Overrun	Overrun	7	Oct 1, 2021	SYSTEM	(\$6,102.40)	
		REMOVAL			10	Nov 16, 2021	SYSTEM	(\$4,119.04)	
						2021			



Mar 22, 2022

roject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
5P3399	0180	PAVEMENT MARKING	Overrun	Overrun	11	Dec 2, 2021	SYSTEM	(\$1,621.12)	
		REMOVAL			13	Jan 3, 2022	SYSTEM	(\$11,403.52)	
					14	Mar 16, 2022	SYSTEM	\$23,246.08	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.64000 - 0.64000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0180 -	Total						\$0.00	
	0190	4 IN TEMPORARY PAVEMENT MARKING PAINT	Material		2	Jul 16, 2021	SYSTEM	\$6,326.08	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user lamonr overridding Payment Estimate Exception 3 on the current Payment Estimate.
					2	Jul 16, 2021	SYSTEM	(\$6,326.08)	
				- Total				\$0.00	
			Material - Tota	d.				\$0.00	
			Overrun	Overrun	5	Sep 1, 2021	SYSTEM	\$2,788.86	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user lamonr overridding Payment Estimate Exception 4 on the current Payment Estimate.
					5	Sep 1, 2021	SYSTEM	(\$2,788.86)	
					6	Sep 16, 2021	SYSTEM	(\$2,788.86)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					7	Oct 1, 2021	SYSTEM	(\$3,577.50)	
					10	Nov 16, 2021	SYSTEM	(\$5,433.56)	
					14	Mar 16, 2022	SYSTEM	\$11,799.92	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.53000 - 0.53000, 'is applied (if non-zero).
				Overrun - Total				\$0.00	
			Overrun - Total					\$0.00	
	0190 -	Total						\$0.00	
	0195	ROCK DITCH CHECK		Overrun	7	Oct 1, 2021	SYSTEM	(\$2,046.00)	
				Overrun - Total				(\$2,046.00)	
	0195 -		Overrun - Tota	al				(\$2,046.00)	
		Total	Overrun - Tota	al				(\$2,046.00) (\$2,046.00)	
	0198	Total SILT FENCE		al	2	Jul 16, 2021	SYSTEM		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user lamonr overridding Payment Estimate Exception 5 on the current Payment Estimate.
	0198			al	2		SYSTEM	(\$2,046.00)	Estimate Item Adjustment (0004) due to user lamonr overridding Payment
	0198			al - Total		2021 Jul 16,		(\$2,046.00) \$1,750.00	Estimate Item Adjustment (0004) due to user lamonr overridding Payment
	0198			- Total		2021 Jul 16,		(\$2,046.00) \$1,750.00 (\$1,750.00)	Estimate Item Adjustment (0004) due to user lamonr overridding Payment
	0198	SILT FENCE	Material	- Total		2021 Jul 16,		(\$2,046.00) \$1,750.00 (\$1,750.00) \$0.00	Estimate Item Adjustment (0004) due to user lamonr overridding Payment
	0198 -	SILT FENCE	Material Material - Tota	- Total		2021 Jul 16,		(\$2,046.00) \$1,750.00 (\$1,750.00) \$0.00 \$0.00	Estimate Item Adjustment (0004) due to user lamonr overridding Payment
	0198 -	SILT FENCE	Material Material - Tota	- Total	2	2021 Jul 16, 2021 Jul 16,	SYSTEM	(\$2,046.00) \$1,750.00 (\$1,750.00) \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0004) due to user lamonr overridding Payment Estimate Exception 5 on the current Payment Estimate.
	0198 -	SILT FENCE	Material Material - Tota	- Total	2	2021 Jul 16, 2021 Jul 16, 2021 Jul 16,	SYSTEM	(\$2,046.00) \$1,750.00 (\$1,750.00) \$0.00 \$0.00 \$3,430.00	Estimate Item Adjustment (0004) due to user lamonr overridding Payment Estimate Exception 5 on the current Payment Estimate.
	0198 -	SILT FENCE	Material Material - Tota	- Total	2 2 2 2 2	2021 Jul 16, 2021 Jul 16, 2021 Jul 16, 2021 Jul 16, 2021 Aug 2,	SYSTEM SYSTEM SYSTEM	(\$2,046.00) \$1,750.00 (\$1,750.00) \$0.00 \$0.00 \$3,430.00 (\$3,430.00)	Estimate Item Adjustment (0004) due to user lamonr overridding Payment Estimate Exception 5 on the current Payment Estimate.
	0198 -	SILT FENCE	Material Material - Tota	- Total	2 2 2 3	2021 Jul 16, 2021 Jul 16, 2021 Jul 16, 2021 Jul 16, 2021 Aug 2, Aug 2,	SYSTEM SYSTEM SYSTEM SYSTEM	(\$2,046.00) \$1,750.00 (\$1,750.00) \$0.00 \$0.00 \$3,430.00 (\$3,430.00) \$6,860.00	Estimate Item Adjustment (0004) due to user lamonr overridding Payment Estimate Exception 5 on the current Payment Estimate.



New of the lend bitsAlgoing (0) <b< th=""><th></th><th></th><th></th><th></th><th></th><th></th><th></th><th></th><th></th><th></th></b<>											
Value Value Value Entrop Entrop <td>Project</td> <td>Line</td> <td>Description</td> <td></td> <td>Adjustment</td> <td></td> <td></td> <td></td> <td>Amount</td> <td>Remarks</td>	Project	Line	Description		Adjustment				Amount	Remarks	
V V	J5P3399	0210	MISC. REMOVALS	Material		5		SYSTEM	\$10,290.00	Estimate Item Adjustment (0002) due to user lamonr overridding Payment	
V Concernance Con						5		SYSTEM	(\$10,290.00)		
Value Value <td< td=""><td></td><td></td><td>6</td><td></td><td>SYSTEM</td><td>\$6,860.00</td><td>Estimate Item Adjustment (0002) due to user lamonr overridding Payment</td></td<>						6		SYSTEM	\$6,860.00	Estimate Item Adjustment (0002) due to user lamonr overridding Payment	
V Control Control <thcontrol< th=""> <thcontrol< th=""> <thcontrol< td=""><td></td><td></td><td></td><td></td><td></td><td>6</td><td></td><td>SYSTEM</td><td>(\$6,860.00)</td><td></td></thcontrol<></thcontrol<></thcontrol<>						6		SYSTEM	(\$6,860.00)		
Vertical						7		SYSTEM	\$6,860.00	Estimate Item Adjustment (0008) due to user lamonr overridding Payment	
Normal Parameter Image: Parameter<						7		SYSTEM	(\$6,860.00)		
Image: Construction of the second s						8	Oct 18,	SYSTEM	\$6,860.00	Estimate Item Adjustment (0003) due to user lamonr overridding Payment	
Class						8		SYSTEM	(\$6,860.00)		
Value Value Value Value 2010 For Value					- Total				\$0.00		
O210 - Total U 0.00 0220 CLASS B-2. CONCRETE Material Nag 16, 2021 SYSTEM \$18.286.20 This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate. 4 Aug 16, 2021 SYSTEM \$18.286.20 Estimate Exception 1 on the current Payment Estimate. 5 Sep 1, 2021 SYSTEM \$18.286.20 Estimate Exception 1 on the current Payment Estimate. 6 Sep 1, 2021 SYSTEM \$27.002.30 This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate. 7 Total - SYSTEM \$0.00 0000 0000 0000 0000 0000 0000 0000 0000 10 Nov 16, 2021 SYSTEM \$10.062.00 Stadystment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 0 Nov 16, 2021 SYSTEM \$10.062.00				Material - Tota							
020 CLASS B.2 CONCRETE Material 		0210	Total	inatoriai Tota							
4 Aug 16, SYSTEM (\$18,286.20) 5 Sep. 1, SYSTEM (\$27,402.30) This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate Estimate Exception 1 on the current Payment Estimate 7 total Sign 2 0.000 100 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 <td colspan<="" td=""><td></td><td rowspan="3"></td><td rowspan="3">CLASS B-2</td><td rowspan="3"></td><td></td><td>4</td><td></td><td>SYSTEM</td><td></td><td>Estimate Item Adjustment (0002) due to user lamonr overridding Payment</td></td>	<td></td> <td rowspan="3"></td> <td rowspan="3">CLASS B-2</td> <td rowspan="3"></td> <td></td> <td>4</td> <td></td> <td>SYSTEM</td> <td></td> <td>Estimate Item Adjustment (0002) due to user lamonr overridding Payment</td>			CLASS B-2			4		SYSTEM		Estimate Item Adjustment (0002) due to user lamonr overridding Payment
Image: Provide the set of the se						4		SYSTEM	(\$18,268.20)		
Image: Note:						5		SYSTEM	\$27,402.30	Estimate Item Adjustment (0003) due to user lamonr overridding Payment	
9 0.00 0200 0200 0210 0210 0210 0210 0210 0000 010 Nov 16, SYSTE S10.062.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 5 on the current Payment Estimate 010 Nov 16, SYSTE S10.062.00 This adjustment offsets the original system-generated Material Payment Estimate 10 Nov 16, 2021 SYSTE \$10.062.00 This adjustment offsets the original system-generated Material Payment Estimate 11 Dec 2, 2021 SYSTE \$10.062.00 This adjustment offsets the original system-generated Material Payment Estimate 12 Dec 1, 2021 SYSTE \$20,124.00 This adjustment offsets the original system-generated Material Payment Estimate 13 Jan 3, 2022 SYSTE \$20,124.00 This adjustment offsets the original system-generated Material Payment Estimate 14 Mar 6, SYSTEM \$20,124.00 This adjustment offsets the original system-generated Material Payment Estimate 14 Mar 6, SYSTEM \$20,124.00 This adjustment offsets t						5		SYSTEM	(\$27,402.30)		
O220 - Total S0.00 0320 MISC. REMOVALS Material Nov 16, 2021 SYSTEM \$10,062.00 This adjustment offsets the original system-generated Material Payment Estimate texception 5 on the current Payment Estimate. 10 Nov 16, 2021 SYSTEM \$10,062.00 This adjustment offsets the original system-generated Material Payment Estimate texception 5 on the current Payment Estimate. 11 Dec 2, 2021 SYSTEM \$10,062.00 This adjustment offsets the original system-generated Material Payment Estimate texception 5 on the current Payment Estimate. 11 Dec 2, 2021 SYSTEM \$10,062.00 This adjustment offsets the original system-generated Material Payment Estimate texception 3 on the current Payment Estimate. 12 Dec 16, 2021 SYSTEM \$20,124.00 This adjustment offsets the original system-generated Material Payment Estimate texception 3 on the current Payment Estimate. 13 Jan 3, 2022 SYSTEM \$20,124.00 This adjustment offsets the original system-generated Material Payment Estimate tem Adjustment (0007) due to user stokez1 overridding Payment Estimate tem Adjustment (0007) due to user stokez1 overridding Payment Estimate tem Adjustment (0007) due to user stokez1 overridding Payment Estimate tem Adjustment (0007) due to user stokez1 overridding Payment Estimate tem Adjustment offsets the original system-generated Material Payment Estimate texception 5 on the current P					- Total				\$0.00		
0320 MISC. REMOVALS Material 10 Nov 16, SYSTEM \$10,062.00 This adjustment offsets the original system-generated Material Payment Estimate Estimate Exception 5 on the current Payment Estimate. 10 Nov 16, SYSTEM \$10,062.00 This adjustment offsets the original system-generated Material Payment Estimate. 10 Nov 16, SYSTEM \$10,062.00 This adjustment offsets the original system-generated Material Payment Estimate. 11 Dec 2, SYSTEM \$10,062.00 This adjustment offsets the original system-generated Material Payment Estimate. 12 Dec 16, SYSTEM \$10,062.00 This adjustment offsets the original system-generated Material Payment Estimate. 12 Dec 16, SYSTEM \$20,124.00 This adjustment offsets the original system-generated Material Payment Estimate. 12 Dec 16, SYSTEM \$20,124.00 This adjustment offsets the original system-generated Material Payment Estimate. 13 Jan 3, SYSTEM \$20,124.00 This adjustment offsets the original system-generated Material Payment Estimate. 14 Mar 16, SYSTEM \$20,124.00 This adjustment offsets the original system-generated Material Payment Estimate. 13 Jan 3, SYSTEM				Material - Tota	al				\$0.00		
Image: Signate line Adjustment (0006) due to user lamonr overridding Payment Estimate. 10 Nov 16, 2021 SYSTEM \$10,062.00 11 Dec 2, 2021 SYSTEM \$10,062.00 This adjustment (0005) due to user lamonr overridding Payment Estimate. 11 Dec 2, 2021 SYSTEM \$10,062.00 This adjustment offsets the original system-generated Material Payment Estimate. 11 Dec 2, 2021 SYSTEM \$10,062.00 This adjustment offsets the original system-generated Material Payment Estimate. 12 Dec 16, 2021 SYSTEM \$20,124.00 This adjustment offsets the original system-generated Material Payment Estimate. 12 Dec 16, 2021 SYSTEM \$20,124.00 This adjustment offsets the original system-generated Material Payment Estimate. 13 Jan 3, 2022 SYSTEM \$20,124.00 This adjustment offsets the original system-generated Material Payment Estimate. 14 Mar 16, 2022 SYSTEM \$20,124.00 This adjustment offsets the original system-generated Material Payment Estimate. 14 Mar 16, 2022 SYSTEM \$20,124.00 This adjustment offsets the original system-generated Material Payment Estimate. 14 Mar 16, 2022 SYSTEM \$20,124.00 This adjustment offsets the		0220 -	Total						\$0.00		
1 2021 5		0320	MISC. REMOVALS	S Material		10		SYSTEM	\$10,062.00	Estimate Item Adjustment (0006) due to user lamonr overridding Payment	
A statistical for the second						10		SYSTEM	(\$10,062.00)		
A contract of the contract						11		SYSTEM	\$10,062.00	Estimate Item Adjustment (0005) due to user lamonr overridding Payment	
Image: Second						11		SYSTEM	(\$10,062.00)		
Image: Signal of the state							12		SYSTEM	\$20,124.00	Estimate Item Adjustment (0004) due to user lamonr overridding Payment
Image: Second						12		SYSTEM	(\$20,124.00)		
- Total 2022 1 1 2022 1 1 1 2022 1 1 1 1 2022 1 1 1 1 1 2022 1 <td></td> <td>13</td> <td></td> <td>SYSTEM</td> <td>\$20,124.00</td> <td>Estimate Item Adjustment (0007) due to user stokez1 overridding Payment</td>						13		SYSTEM	\$20,124.00	Estimate Item Adjustment (0007) due to user stokez1 overridding Payment	
- Total 2022 \$0.00 Estimate Item Adjustment (0007) due to user stokez1 overridding Payment Estimate. - Total - Total \$9.00 Material - Total \$0.00						13		SYSTEM	(\$20,124.00)		
2022 \$0.00 - Total \$0.00 Material - Total \$0.00						14		SYSTEM	\$20,124.00	Estimate Item Adjustment (0007) due to user stokez1 overridding Payment	
Material - Total \$0.00						14		SYSTEM	(\$20,124.00)		
					- Total				\$0.00		
0320 - Total \$0.00				Material - Tota					\$0.00		
		0320 -	Total						\$0.00		



Mark Line Description Adds Line Output Name Description Addression Market Description UPP3700 CLA X88 R-Z Market Rescal Social <	Image: state Type Name: Name: State State State APPORT CLUMPARTIE Name: State													
CONCRETE	Final Product Concept Product Concept Product Product Concept Product P	Project	Line	Description	Adjustment Type		Est. Number	Created Date	Created By	Amount	Remarks			
Projection Construction Construction </td <td>Image: start in the initial start initial start in the initial start initial</td> <td>J5P3399</td> <td>0330</td> <td></td> <td>Material</td> <td></td> <td>10</td> <td></td> <td>SYSTEM</td> <td>\$26,485.90</td> <td>Estimate Item Adjustment (0007) due to user lamonr overridding Payment</td>	Image: start in the initial start initial start in the initial start initial	J5P3399	0330		Material		10		SYSTEM	\$26,485.90	Estimate Item Adjustment (0007) due to user lamonr overridding Payment			
1 0 0 Elimine Elemone Elemine	Results Field Solid Solid Field Example time Adjustment (Solid) and using a some overside) Adjustment (Solid) and Using a soverside) and (Solid) and Using a soverside) Adjustment (Solid) and						10		SYSTEM	(\$26,485.90)				
View View <td< td=""><td>View 12 2021 View No.2021 Project Status Project Status</td><td></td><td></td><td></td><td></td><td></td><td>11</td><td></td><td>SYSTEM</td><td>\$26,485.90</td><td>Estimate Item Adjustment (0006) due to user lamonr overridding Payment</td></td<>	View 12 2021 View No.2021 Project Status						11		SYSTEM	\$26,485.90	Estimate Item Adjustment (0006) due to user lamonr overridding Payment			
Image: Second	No. 1 No. 2 No. 2 <th< td=""><td></td><td></td><td></td><td></td><td></td><td>11</td><td></td><td>SYSTEM</td><td>(\$26,485.90)</td><td></td></th<>						11		SYSTEM	(\$26,485.90)				
Application Image: Control in the control intermed payment in the control intermed payment intermed pa	Image: state in the second state in the sec						12		SYSTEM	\$52,971.80	Estimate Item Adjustment (0005) due to user lamonr overridding Payment			
View View View View Status Estimate learning learning learning Payment Estimate 13 Jan 3, Jan 4, Jan 4,	Application Reference 2022 Value Solution Reference Refere						12		SYSTEM	(\$52,971.80)				
Visite Visite<	Image: state in the second state in the sec						13		SYSTEM	\$52,971.80	Estimate Item Adjustment (0008) due to user stokez1 overridding Payment			
Image: status in the	Image: state in the s						13		SYSTEM	(\$52,971.80)				
Image: Control in the contr							14		SYSTEM	\$52,971.80	Estimate Item Adjustment (0008) due to user stokez1 overridding Payment			
Material - Total Solution Solution 0330 - Total	Material - Total Material - Total Solution 0330 - Total POCATING: CONCREP BENTS AND BENTS AND DEPENDENCE BENTS AND Material - Total Nov 2, 2021 SYSTEM \$4.280.00 Price - Solution -						14		SYSTEM	(\$52,971.80)				
0330 Total 9 Total 0300 Total 9 Total	0330 - Total Status					- Total		1	1	\$0.00				
0350 PROTECTIVE CONCRETE BENTS AND No.2, CONCRETE BENTS AND No.2, CONCRETE BENTS AND No.2, CONCRETE BENTS AND No.2, CONCRETE BENTS AND No.2, SYSTEM 54,280.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 0360 - Total - Total 9 Nov 2, Nov 2, SYSTEM SYSTEM (64,280.00) 0360 - Total - Total 9 Nov 2, Nov 2, SYSTEM SYSTEM (64,280.00) 0360 REHABILITATION Material - Total 9 Nov 2, SYSTEM SYSTEM S10.00 0360 REHABILITATION Material - Total 9 Nov 2, SYSTEM SYSTEM S11.00.00 0360 REHABILITATION Material - Total 9 Nov 2, SYSTEM SYSTEM S11.200.00 0360 REFIGE Material - Total 9 Nov 2, SYSTEM SYSTEM S1.200.00 0370 APPLICATION OF INORGANIC ZINC Material - Total 50.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 0370 APPLICATION OF INORGANIC ZINC Material - Total SYSTEM S5.00.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 0380 APPLICATION OF INORGANIC ZINC Material - Total SYSTEM S5.124.35 Th	0350 CONTING- CONTING- BENTS AND BENTS AND BENTS AND A Material Even BENTS AND BENTS				Material - Tota	1				\$0.00				
View COATING- CON	$ \begin{array}{ c c c c } \hline \begin{tabular}{ c c } \hline \hline \begin{tabular}{ c c } \hline \$		0330 -	Total						\$0.00				
Image: state in the state	0 9 Nov 2, 2021 SYSTEM (84,280.00) 0 -Total -Stat 50.00 0350 - Total -Total -Stat -Stat 0360 REHABILITATE BEARING Material - Total 9 Nov 2, 2021 SYSTEM (831.200.00) This adjustment offsets the original system-generated Material Payment Estimate term Adjustment (0005) due to user lamonr overriding Payment Estimate term Adjustment (0005) due to user lamonr overriding Payment Estimate Exception 3 on the current Payment Estimate. 0380 -Total -Total 50.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate. 0380 -Total -Total 53.000 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 0380 APPLICATIELD NORGANIC ZNO NORGANIC		0350	COATING - CONCRETE	Material		9		SYSTEM	\$4,280.00	Estimate Item Adjustment (0004) due to user lamonr overridding Payment			
Material - Total So.00 0380 - Total \$0.00 0380 - REHABILITATE BEARING 0380 - Total Naterial - Total \$0 0 Nov 2, 0 SYSTEM \$31,200.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user information or weinding Payment Estimate Item Adjustment (0004) due to user information or weinding Payment Estimate Item Adjustment (0004) due to user information or weinding Payment Estimate Item Adjustment (0004) due to user information or weinding Payment Estimate Item Adjustment (0004) due to user information or weinding Payment Estimate Item Adjustment (0004) due to user information or weinding Payment Estimate Item Adjustment (0004) due to user information or weinding Payment Estimate Item Adjustment (0004) due to user information or weinding Payment Estimate Item Adjustment (0004) due to user information or weinding Payment Estimate Item Adjustment (0004) due to user information or weinding Payment Estimate Item Adjustment (0003) due to user information or weinding Payment Estimate Item Adjustment (0003) due to user information or weinding Payment Estimate Item Adjustment (0003) due to user information or weinding Payment Estimate Exception 2 on the current Payment Estimate. 0380 - Total • Total \$VSTEM \$S,124.35 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 0380 - Total • Total • Total \$VSTEM \$S,124.35 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 0380 - Total • Total • Total	Material - Total S0.00 0350 - Total 50.00 0360 - Total 9 2021 SYSTEM S31,200.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate. 0360 - Total - Total 9 2021 SYSTEM (S31,200.00) - Total - Total - Total - Total - Total - Total 0360 - Total - Total - Total - Total - Total - Total 0360 - Total - Total - Total - Store - Store - Store 0360 - Total - Total - Total - Store - Store - Store 0380 - FIELD APPLICATION OF INORGANICZINC B 2021 SYSTEM (S5,400.00) - Stimate Exception 2 on the current Payment Estimate 0380 - Total - Total SV SYSTEM (S1,24.35) This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate 0380 - Total - Total SVYTEM (S1,24.35) This adjustment offsets the original system-generated Material Payment Estima						9		SYSTEM	(\$4,280.00)				
0360 - Total S0.00 0360 REHABILITATE BEARING Material BEARING Material 0 Nov 2, 2021 SYSTEM \$31,200.00 This adjustment offsets the original system-generated Material Payment Estimate Iem Adjustment (0005) due to user Iamonr overridding Payment Estimate Iem Adjustment (0005) due to user Iamonr overridding Payment Estimate Iem Adjustment (0004) due to user Iamonr overridding Payment Estimate Iem Adjustment offsets the original system-generated Material Payment Estimate Iem Adjustment offsets the original system-generated Material Payment Estimate Iem Adjustment (0004) due to user Iamonr overridding Payment Estimate Iem Adjustment (0004) due to user Iamonr overridding Payment Estimate Iem Adjustment (0004) due to user Iamonr overridding Payment Estimate Iem Adjustment (0004) due to user Iamonr overridding Payment Estimate Iem Adjustment (0004) due to user Iamonr overridding Payment Estimate Iem Adjustment (0003) due to user Iamonr overridding Payment Estimate Iem Adjustment (0003) due to user Iamonr overridding Payment Estimate Iem Adjustment (0003) due to user Iamonr overridding Payment Estimate Iem Adjustment (0003) due to user Iamonr overridding Payment Estimate Iem Adjustment (0003) due to user Iamonr overridding Payment Estimate Iem Adjustment (0003) due to user Iamonr overridding Payment Estimate Iem Adjustment (0003) due to user Iamonr overridding Payment Estimate Iem Adjustment (0003) due to user Iamonr overridding Payment Estimate Iem Adjustment (0003) due to user Iamonr overridding Payment Estimate Iem Adjustment (0003) due to user Iamonr overridding Payment Estimate Iem Adjustment (0003) due to user Iamonr overridding Payment Estimate Iem Adjustment (0003) due to user Iamonr overridding Payment Estimate Iem Adjustment (0003) due to user Iamonr overridding Payment Estimate Iem Adjustment (0003) due to user Istoke	O360 - Total Subsection Subse					- Total				\$0.00				
0360 REHABILITATE BEARING BEARING APPLICATION OF NORGANIC ZINC Material - Total 9 Nov 2, 2021 SYSTEM \$31,200.00 This adjustment (0005) due to user lamonr. overridding Payment Estimate texception 3 on the current Payment Estimate. 0360 - Total - Total \$0.00 - 0360 - Total - Total \$0.00 - 0360 - Total - Total \$0.00 - - 0360 - Total - Total \$0.00 - - 0360 - Total FIELD NORGANIC ZINC Material - Total \$0.00 - 0360 - Total - Total \$0.01 SySTEM \$5,400.00 This adjustment offsets the original system-generated Material Payment Estimate texception 2 on the current Payment Estimate. 0380 APPLICATION OF INORGANIC ZINC Material 8 Oct 18, 2021 SYSTEM \$5,400.00 0380 Oct 18, 2021 SYSTEM \$5,124.35 This adjustment offsets the original system-generated Material Payment Estimate texception 4 on the current Payment Estimate. 0380 - Total - Total \$5,124.35 This adjustment offsets the original system-generated Material Payment 0380 - Total - Total \$5,124.35 Sistem 20.00 Internet Payment Estimate. 0380 - Total - Total - Sostem<	0360 REHABILITATE BEARING BEARING Material BEARING BEARING Material a 9 Nov 2, 2021 SYSTEM \$31,200.00 This adjustment offsets the original system-generated Material Payment Estimate Ieam Adjustment (0005) due to user Iamonr overridding Payment Estimate Ieam Adjustment (0005) due to user Iamonr overridding Payment Estimate Ieam Adjustment (0005) due to user Iamonr overridding Payment Estimate Ieam Adjustment (0004) due to user Iamonr overridding Payment Estimate Ieam Adjustment offsets the original system-generated Material Payment Estimate Ieam Adjustment (0004) due to user Iamonr overridding Payment Estimate Ieam Adjustment (0004) due to user Iamonr overridding Payment Estimate Ieam Adjustment (0004) due to user Iamonr overridding Payment Estimate Ieam Adjustment (0004) due to user Iamonr overridding Payment Estimate Ieam Adjustment (0004) due to user Iamonr overridding Payment Estimate Ieam Adjustment (0004) due to user Iamonr overridding Payment Estimate Ieam Adjustment (0004) due to user Iamonr overridding Payment Estimate Ieam Adjustment (0003) due to user Iamonr overridding Payment Estimate Ieam Adjustment (0003) due to user Iamonr overridding Payment Estimate Ieam Adjustment (0003) due to user Iamonr overridding Payment Estimate Ieam Adjustment (0003) due to user Iamonr overridding Payment Estimate Exception 4 on the current Payment Estimate. 0380 - Total - Total SYSTEM \$S124.33 \$S124.33 0380 - Total - Total I 4 Mar 16. 2022 \$YSTEM \$S5,124.33 0380 - Total - Total - Total I 4 Mar 16. 2022 \$YSTEM <				Material - Tota	al				\$0.00				
BEARING BEARING Image: Beaming beam	BEARING BEARING BEARING Bear		0350 -	Total						\$0.00				
$ \begin{array}{ c c } \hline \hline \\ $	Image: bit with the strength of the str		0360		Material	terial	9		SYSTEM	\$31,200.00	Estimate Item Adjustment (0005) due to user lamonr overridding Payment			
Material - Total So.00 0360 - Total 50.00 0380 - Total APPLICATION OF INORGANIC ZINC Material 8 Oct 18, 2021 SYSTEM \$5,400.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 0380 - Total 6 Oct 18, 2021 SYSTEM \$5,124.35 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user Iamonr overridding Payment Estimate Item Adjustment (0003) due to user Iamonr overridding Payment Estimate Item Adjustment (0003) due to user Iamonr overridding Payment Estimate Exception 4 on the current Payment Estimate. 0380 - Total - Total 50.00 0380 - Total - Total 50.00 5001 TEMPORARY LONG-TERM RUMBLE STRIPS Material 14 Mar 16, 2022 SYSTEM \$8,554.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Item Adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Item Adjustment (D009) due to user stokez1 overridding Payment Estimate Item Adjustment (D	Add reliableSubscriptionSolutionSolution0360 - TotalAPPLICATION OF INORGANIC ZINCMaterialMaterial8 2021Oct 18, 2021SYSTEM\$5,400.00This adjustment offsets the original system-generated Material Payment Estimate tem Adjustment (0004) due to user lamon overridding Payment Estimate tem Adjustment (0003) due to user lamon overridding Payment Estimate tem Adjustment (0003) due to user lamon overridding Payment Estimate tem Adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.9Nov 2, 2021SYSTEM(\$5,124.35)This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate.0- Total- TotalSYSTEM(\$5,124.35)TotalSoloneOtom Constraint Exception 4 on the current Payment Estimate.SoloneTotalSolone<						9		SYSTEM	(\$31,200.00)				
0360 - Total \$0.00 0380 FIELD APPLICATION OF INORGANIC ZING Material 8 Oct 18, 2021 SYSTEM \$5,400.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 8 Oct 18, 2021 SYSTEM (\$5,400.00) This adjustment (0004) due to user lamonr overridding Payment Estimate Exception 2 on the current Payment Estimate. 9 Nov 2, 2021 SYSTEM \$5,124.35 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user lamonr overridding Payment Estimate Exception 4 on the current Payment Estimate. 9 Nov 2, 2021 SYSTEM \$5,124.35 Interview Material - Total Solution 1 Solution 1 Substruct Solution 1 Substruct Solution 1 Solution 1 <td>0360 - Total S0.00 0380 FIELD APPLICATION OF INORGANIC ZINC Material APPLICATION OF INORGANIC ZINC Material APPLICATION OF INORGANIC ZINC Material APPLICATION OF INORGANIC ZINC 8 Oct 18, 2021 SYSTEM \$5,400.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 8 Oct 18, 2021 SYSTEM \$5,124.35 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user Iamonr overridding Payment Estimate Exception 4 on the current Payment Estimate. 9 Nov 2, 2021 SYSTEM \$5,124.35 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 0380 - Total - Total - Total 50.00 (\$5,124.35) 0380 - Total - Total 50.00 System daterial Payment Estimate Exception 4 on the current Payment Estimate. 5001 TEMPORARY LONG-TERM RUMBLE STRIPS Material 14 Mar 16, 2022 System \$8,554.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Exception 2 on t</td> <td></td> <td></td> <td></td> <td colspan="3">- Total</td> <td></td> <td>\$0.00</td> <td></td>	0360 - Total S0.00 0380 FIELD APPLICATION OF INORGANIC ZINC Material APPLICATION OF INORGANIC ZINC Material APPLICATION OF INORGANIC ZINC Material APPLICATION OF INORGANIC ZINC 8 Oct 18, 2021 SYSTEM \$5,400.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 8 Oct 18, 2021 SYSTEM \$5,124.35 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user Iamonr overridding Payment Estimate Exception 4 on the current Payment Estimate. 9 Nov 2, 2021 SYSTEM \$5,124.35 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 0380 - Total - Total - Total 50.00 (\$5,124.35) 0380 - Total - Total 50.00 System daterial Payment Estimate Exception 4 on the current Payment Estimate. 5001 TEMPORARY LONG-TERM RUMBLE STRIPS Material 14 Mar 16, 2022 System \$8,554.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Exception 2 on t					- Total				\$0.00				
0380 FIELD NOF Material 8 Oct 18, 2021 SYSTEM \$5,400.00 This adjustment offsets the original system-generated Material Payment Estimate 0380 APPLICATION OF INORGANIC ZINC 6 Oct 18, 2021 SYSTEM \$5,400.00 This adjustment offsets the original system-generated Material Payment Estimate 0 0 0 0 SYSTEM \$5,124.35 This adjustment offsets the original system-generated Material Payment Estimate 0 Nov 2, 2021 SYSTEM \$5,124.35 This adjustment offsets the original system-generated Material Payment Estimate 0 Nov 2, 2021 SYSTEM \$5,124.35 Stream Estimate Second on the current Payment Estimate 0 Nov 2, 2021 SYSTEM \$5,124.35 Stream Estimate Second on the current Payment Estimate 0 Nov 2, 2021 SYSTEM \$5,000 Stream Estimate Stream Estimate 0 Nov 2, 2021 SYSTEM \$5,124.35 Stream Estimate Stream Estimate 0 Nov 2, 2021 SVSTEM \$5,000 Stream Estimate Stream Estimate 0 Image: Stream Estimate Image: Stream Estimate Stream Estimate Stream Esti	0380 FIELD APPLICATION OF INORGANIC ZING Material APPLICATION OF INORGANIC ZING Material APPLICATION OF INORGANIC ZING				Material - Total					\$0.00				
APPLICATION OF INORGANIC ZINC APPLICATION OF INORGANIC ZINC Image: Section 2 and 2001 in the current Payment Estimate 8 Oct 18, 2021 SYSTEM (\$5,400.00) 9 Nov 2, 2021 SYSTEM \$5,124.35 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user Iamonr overridding Payment Estimate Item Adjustment (0003) due to user Iamonr overridding Payment Estimate Item Adjustment (0003) due to user Iamonr overridding Payment Estimate Exception 4 on the current Payment Estimate. 9 Nov 2, 2021 SYSTEM \$5,124.35 This adjustment (0003) due to user Iamonr overridding Payment Estimate Exception 4 on the current Payment Estimate. 9 Nov 2, 2021 SYSTEM \$5,124.35 This adjustment offsets the original system-generated Material Payment Estimate 0380 - Total - Total - Total - Total - Total 0380 - Total - Total - S0.00 - Total - S0.00 5001 TEMPORARY RUMBLE STRIPS Material 14 Mar 16, 2022 SYSTEM \$8,554.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 5001 TEMPORARY RUMBLE STRIPS 14 Mar 16, 2022 SYSTEM \$8,554.00 Stinate Exception 2 on the current Payment Est	APPLICATION OF INORGANIC ZINC APPLICATION OF INORGANIC ZINC Image: Second Seco		0360 -	Total						\$0.00				
0380 - Total 14 Mar 16, 2021 SYSTEM \$8,554.00 9 Nov 2, 2021 SYSTEM \$5,124.35 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user Iamonr overridding Payment Estimate Exception 4 on the current Payment Estimate. 9 Nov 2, 2021 SYSTEM \$5,124.35 9 Nov 2, 2021 SYSTEM \$5,124.35 9 Nov 2, 2021 SYSTEM \$5,124.35 9 Nov 2, 2021 SYSTEM \$5,000 0 Material - Total \$0.00 10 Mar 16, 2022 \$0.00	$ \begin{array}{ c c c c c } \hline \begin{tabular}{ c c c c } \hline \end{tabular} \\ \hline$		0380	APPLICATION OF	Material	Material	Material	Material		8		SYSTEM	\$5,400.00	Estimate Item Adjustment (0004) due to user lamonr overridding Payment
Vision Vision Vision Vision Estimate Item Adjustment (0003) due to user Iamonr overridding Payment Estimate. 9 Nov 2, 2021 SYSTEM (\$5,124.35) 0 Vision Vision 0 Nov 2, 2021 SYSTEM \$0.00 0 Naterial - Total S0.00 0380 - Total Vision \$0.00 5001 TEMPORARY ILONG-TERM RUMBLE STRIPS Material 14 Mar 16, SYSTEM \$8,554.00 14 Mar 16, SYSTEM \$8,554.00	Auge Image: Signate intervent of the second secon							8		SYSTEM	(\$5,400.00)			
Image: Constraint of the constr	$ \begin{array}{ c c c c c } \hline & & & & & & & & & & & & & & & & & & $						9		SYSTEM	\$5,124.35	Estimate Item Adjustment (0003) due to user lamonr overridding Payment			
Material - Total \$0.00 0380 - Total \$0.00 5001 TEMPORARY LONG-TERM RUMBLE STRIPS Material A 14 Mar 16, 2022 14 Mar 16, 20	Material - Total \$0.00 0380 - Total \$0.00 5001 TEMPORARY LONG-TERM RUMBLE STRIPS Material b 14 Mar 16, 2022 \$YSTEM 2022 \$%554.00 14 Mar 16, 2022 \$YSTEM 14 Mar 16, 2022 \$YSTEM 14 Mar 16, 2022 \$YSTEM 14 Mar 16, 2022 \$YSTEM						9		SYSTEM	(\$5,124.35)				
0380 - Total \$0.00 5001 TEMPORARY LONG-TERM RUMBLE STRIPS Material A 14 Mar 16, 2022 SYSTEM 2022 \$8,554.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	0380 - Total \$0.00 5001 TEMPORARY LONG-TERM RUMBLE STRIPS Material A 14 Mar 16, 2022 SYSTEM 2022 \$8,554.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Exception 2 on the current Payment Estimate. 14 Mar 16, 2022 SYSTEM 2022 (\$8,554.00)					- Total				\$0.00				
5001 TEMPORARY LONG-TERM RUMBLE STRIPS Material 14 Mar 16, 2022 SYSTEM \$8,554.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Exception 2 on the current Payment Estimate. 14 Mar 16, Mar	5001 TEMPORARY LONG-TERM RUMBLE STRIPS Material 14 Mar 16, 2022 SYSTEM \$8,554.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Exception 2 on the current Payment Estimate. 14 Mar 16, 2022 SYSTEM \$8,554.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user stokez1 overridding Payment				Material - Total					\$0.00				
LONG-TERM RUMBLE STRIPS 2022 Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Exception 2 on the current Payment Estimate. 14 Mar 16, SYSTEM (\$8,554.00)	LONG-TERM RUMBLE STRIPS 2022 2022 Estimate Item Adjustment (0009) due to user stokez1 overridding Payment Estimate Exception 2 on the current Payment Estimate. 14 Mar 16, 2022 SYSTEM (\$8,554.00)		0380 -	Total						\$0.00				
	2022		5001	LONG-TERM	Material		14		SYSTEM	\$8,554.00	Estimate Item Adjustment (0009) due to user stokez1 overridding Payment			
	- Total \$0.00						14		SYSTEM	(\$8,554.00)				
- Total \$0.00						- Total				\$0.00				



Mar 22, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3399	5001	TEMPORARY LONG-TERM RUMBLE STRIPS	Material - Tota	I				\$0.00	
	5001 -	Total						\$0.00	
	5002	TUBULAR MARKER	Material		14	Mar 16, 2022	SYSTEM	\$20,124.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user stokez1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					14	Mar 16, 2022	SYSTEM	(\$20,124.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	5002 -	Total						\$0.00	
J5P3399 -	5P3399 - Total								
Overall -	Overall - Total								